COP3530 Recitation Exercises 2/4/03

*1) Starting with the Splay Tree below, determine the structure of the splay tree after each of the operations below is performed:
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a) Insert(7)


b) Search(23)


c) Insert(27)


d) Delete(28)


e) Delete(25)

*2) (C-3.22) Describe a sequence of accesses to an n-node splay tree T, where n is odd, that results in T consisting of a single chain of internal nodes with external node children, such that the internal-node path down T alternates betwenn left children and right children.

*: If there is time, a group should go over each of the two problems with the class.

